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. . B {1 0.001 0.003 0.003 0.003 0.002 . . et 0.001 0.001 0.001 0.001
SRS B & O 4 | M Ee e A HEO AR M6
. il Bl 0.000 0.001 0.001 0.002 0.001 PR il A 0.000 0.001 0.001 0.001
B - . B {1 0.001 0.002 0.003 0.002 0.002 N e . et 0.001 0.001 0.002 0.002
FRRENTSIERRA I k| R by e FRRENTSIEGRA TNk B kT
AR LARRE B I/ Bl 0.001 0.001 0.001 0.001 0.001 AR P A 0.000 0.001 0.001 0.001
. T 0.001 0.003 0.003 0.002 0.002 . et 0.002 0.001 0.002 0.002
BORE T B L R4 | ke BEOREOWTE B R s @ Mbxe
" B i 0.001 0.001 0.001 0.001 0.001 fi L YA 0.001 0.001 0.001 0.001
B B EEROAERME(EZE) {7 ppm B R EEROPIEREE (45 {7 : ppm
0.060 1/
== PIFI T NPT B = AR == PRI TSRS 5 = odg KGR SLUE(E - 1 A SRS,
0.04~0.06ppmETOY — N 1%, AL 0050 1 / 0.04~0.06ppmETHY — W iE, ZHELTF
~O- IR LA A 2 0ot St ~O- IR LA A 0,010 1227 o
- P S OARE 0.030 —O— P S OARE 0.030
—O— Fi AT SEEG A A DU /N —O— S A AT S EG A A DU /NP —®
0.020 - 0.020 —
o BT R 0.010 “% =S - LA 0.010 $
0.000 0.000
- = K 2 = B O £ %
I SN SESE| SN AEE| S S| SN GAEE[ SN TR B 35 i SN SESE| SN AEE| S S| SN GAE SN TR
PR STIR S ok R s | SERES 0.011 0.008 0.013 0.009 0.010 PR STIR S = pops| R s | SERES 0.017 0.018 0.018 0.016
A T T Ak N R R s P 0.011 0.009 0.011 0.012 0.011 PR T T Ak N R R s P E i 0.018 0.016 0.017 0.017
RS b S O 4 & H ke P E i 0.010 0.009 0.011 0.009 0.007 FR T S B S O 48 | H e P 0.018 0.017 0.015 0.014
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